S3

Multi-digit Subtraction

Line up the digits vertically and find the difference.

Ainswer Key

1) 805 - 745 2) 73,241 - 61,659 3) 4,293 - 3,476
805 73,241 4,293
- 745 - 61,659 - 3,476
60 11,582 817

4) 27,140 - 7,865 5) 9,456 — 984 6) 782 - 259
27,140 9,456 782
- 7,865 - 984 - 259
19,275 8,472 523

7) 51,002 - 32,039 8) 94,314 - 582 9) 8,680 — 385
51,002 94,314 8,680
- 32,039 - 582 - 385
18,963 93,732 8,295

10) 6,324 - 4,956

11) 18,546 - 2,379

12) 30,423 - 654

6,324 18,546 30,423
- 4,956 - 2,379 - 654
1,368 16,167 29,769
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